EE 622
Assignment 1
Economic Load Dispatch Problems
Write a computer program to solve  the 
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-iteration method using the following steps
1. Set an initial value of 
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2. Calculate the generated power  from each plant that corresponds 
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3. Check unit limits. If  limit is violated, set limit at lower or maximum values

3. Check that   the demand  against the total generation.

4. If generated power is less than demand increase 
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 and go to step 2

5. If generated power is more than demand decrease 
[image: image5.wmf]l

 and go to step 2

Check your program with the following plant data.
The fuel –cost  characteristics of the units are given by


C1(PG1) = 300 + 8.0PG1 + 0.0015P2G1



C2(PG2) = 450 + 8.0PG2 + 0.0005P2G2



C2(PG3) = 700 + 7.5PG3 + 0.0010P2G3

The generator limits are


320 MW ≤ PG1 ≤ 800   MW

300 MW ≤ PG2 ≤ 1200 MW

275 MW ≤ PG3 ≤ 1100 MW

Find the optimal dispatch for a load PD = 2000 MW.  

Submit Your report by October 2, 2007. 
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